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QUESTION 1

A pool with a default connection limit is configured to use Round Robin as the load balancing method. An 

LTM Specialist needs to ensure that the LTM device selects a server with the fewest number of 

connections when new clients connect. 

Another pool is using the same set of backend servers. 

Which load balancing-method should the pool be changed to? 

A. Weighted Least Connections (node] 

B. Weighted Least Connections (member) 

C. Least Connections 

D. Least Connections 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit. 

A pool is contoured with four members. A user has a current connection established with 10.18.1.40. The virtual server
has a persistence Profile configured. 

A. 10.18.1.10 

B. 10.18.1.20 

C. 10.18.1.40 
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D. 10.18.1.30 

Correct Answer: C 

 

QUESTION 3

Exhibit. 

Webserver_pool consists of 6 members. phpAuction_80_pool consists of 2 members LTM1 is the current 

Active member. 

LTM1 loses connectivity to 3 of the 6 members in the webserver_pool LTM2 still has connectivity to all 

servers. 

What is the expected failover behavior? 

A. LTM1 Standby / LTM2 Standby 

B. LTM1 Active /LTM2 Active 

C. LTM1 Active / LTM2 Standby 

D. LTM1 Standby / LTM2 Active 

Correct Answer: C 

 

QUESTION 4

Four members in a server pool have similar hardware platforms. An LTM Specialist needs the load balancing method
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that can select the server with the fewest entries in the persistence table. Which load balancing method should the LTM
Specialist use? 

A. Observed 

B. Dynamic Ratio 

C. Least Sessions 

D. Leas Connections 

Correct Answer: C 

 

QUESTION 5

An LTM Specialist has noticed in the audit log that there are numerous attempts to log into the Admin 

account. Theses attempts are sourced from a suspicious IP address range to the Configuration Utility of 

the LTM device. 

How should the LTM Specialist block these attempts? 

A. add the permitted source IP addresses to the httpd allow list via tmsh 

B. add the suspicious source IP addresses to the httpd deny list via tmsh 

C. add the suspicious source IP addresses to the httpd deny list via Configuration Utility 

D. add the permitted source IP addresses to the allow list via Configuration Utility 

Correct Answer: A 

301A Study Guide 301A Exam Questions 301A Braindumps

Powered by TCPDF (www.tcpdf.org)

301A Study Guide | 301A Exam Questions | 301A Braindumps                                4 / 4

https://www.pass2lead.com/301a.html
https://www.pass2lead.com/301a.html
https://www.pass2lead.com/301a.html
http://www.tcpdf.org
https://www.pass2lead.com/301a.html
https://www.pass2lead.com/301a.html
https://www.pass2lead.com/301a.html

